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(a) oarl (b) @
(c) ReFwrs (d) Tersnd
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Wi smEnrenewe famar s
T 2% frdE 0% It T FEE

(a) wfar () i
(c) &Te (d) =atumar

4, TS IWV FAT MAQEAT (AT 9w
AT 30T ATwS Aw ! YurE ey
Sfmavaw
(a) fafdfir s (b) wrft smow
(c) fafexr M  (d) sear o

5. ordints frear (w Affien
AT TABT VWG] A TS
Atsardt ardtay (Srafyw Ry sy oW
Fffer FEDT T FeEs @NE
oI TF 39 Ffafeor ?
(a) 100 firbra (Araw ST 1A
(b) 100 firBra aTeT A Frefrar oy
(c) 400 fbra caT g8 VA
(d) wftwr 100 x 4 @kt o

6. ypmt 2018 v Ry H ww WY
cifes TS wsfmw fnfr sfaty
AT SRR TrEwAE e I
WIS ATT (NTATHE TS JAW AIA TS
soafks  2uw PorawTd A 2015 §FCY
@dr ufs s wa e Sufie
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+ Only one Tribal Group among those

given below hails from the Indian state
of Assam. Find it.

(a) Bhil (b) Kacharis

(c) Birhor (d) Chenchuas

- All these cities of the Indian state of

Assam lic on the banks of river
Brahmaputra except one. Which one is
i?

(a) Guwahati (b) Tezpur

(c) Dibrugarh (&) Bongaigaon

The *rdian state of Assam is home to
the we J's largest River Island. Find
the corev same of this island among
those given below.

(¥ Kaziranga (b) Majuli

(c). Manas (d) Laokhowa

. Only one among these hills stated

below lies in the state of Assam. Find it.

(a) Mishmi Hills (b) Khasi Hills
(c) Mikir Hills  (d) Garo Hills

. First ever Gold medal for India in a

Global Track event was won by this
Assamese athlete ‘Ilima Das” very
recently. In which track event did she
win the Gold Medal ?

(a) 100 metres running race Finals

(b) 100 metres Hurdles Finals

() 400 metres Running Finals

(d) 100 x 4 Women's Relay Finals

. Pertaining to the slate of Assam, in July

2018 President Shri Ram Nath Kovind
gave his assent to a landmark but long
pending bill since 2015, prepared in
lines with spirit of universal declaration
of human rights to eliminate
superstition in society. Which of these

TEATATAY (FTABTY TS At A
s ?

(a) 3wy SR v ey

(©) P xwfew «Hf e v T
Menfs vy e

(d) arx atrs ay

. wieE Y v sl Ty

I YWTT P IwAT Ay Y sl
TSR FFAT AW FANOY T
AT 23wF IS A Immnpre aw
W o R s oftwe
TN ?

(a)

(b)_Irpmee st

(c) #rmera

(d) g

. Tty sorew ot sl Ty 3w

ATHTE WY MRS I TAATT THA
tanfar fadw ¥R w1 oRaw
coTar Mfior IR SPRTNEY «F T Ot
TTHTNW CFTHNW ?

(a) wurft Ty
(b) e ITHT

(c) gfomm T
(d) cwfs amw

X RS 1671 sww rRwby o ot ghr

wrr wrs mufts Wil e I
a1 DFEBTT TGN FIF |

(a) carTomeT STETEY JrY FCTH A
(b) e X% Moy cer=mht Iy WO
Ty

() T wr Jy JCT A
(d) atsprw abra weN

A

issues stated below the bill relates o ?

(a) Assam Witch Hunting issue

(b) Digital North East Vision proposal
issue

() Revised cost estimates for
updation of National Register of
Citizens issue

(d) None of these

. Post independence the Indian state of

Assam saw the separation of these
ferritories from its original region,
giving birth to these states excepl onc,
which is that one from list below ?

(a): Meghalaya

(b) Arunachal Pradesh
(¢) Nagaland

(d) Tripura

. This ancient kingdom of Medieval

Assam is proudly said to have
revolutionized the entire cultural and
tradition scenario of Assam  state.
Which is that kingdom from list
below ?

(a) Kachari Kingdom

(b) Ahom Kingdom

(¢) Chutiya Kingdom

(d) Koch Kingdom

. The Battle of Saraighat in 1671 in

Assam was fought between these two
forces find the correct one from the list
below

(a) Mughal Empire and Ahom

Kingdom

(b) British East India Company and
Ahom Kingdom

(c) Chutiya Kingdom and Ahor
Kingdom

(d) None of these
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10. Sty oy s Mwre ot g o
WY, AT 2w WO AT, Jrovaw
fe?

(a) wwer
(c) &t

(b) o

(d) ey

1M. mﬂﬁ“lmmmml

AT AX AT TTeAYEF 1985 sww
frr 2w ™ Reny anfirs war fie
T SETES T REwnpa
YA aw fenfa 3fmraw,

(a) wrewsvay arfin Swmw

(b) Faamme ardiw Twmw

(c) fewmts™ frmw

(d) = g FrwaTRTY

12. srsafs @ty St amem ams 2

(@) 4 (b) 5
(© 7 (d) 9
13, T3 (FTOT SRS INT AHAT D
s arw ?
(a) ¥ve W sTtw orgw Rifier
(b) ¥ aby wfiew Iwrevorer anfier
(c) ¥ wy=:rworgh wfee
(d) q%% T9OT YT WATC TTAS INT

AT A AT W
14, b1 crewfhofiy st eipr omd
yF ?
(a) 12 (b) 10
(c) 14 (d) 16
15, 1974 ww®s ™MW  ¥FAT  CMVEATTA
manfas ofisw fr e few aw
T Fay Wiy ?
(a) wift vy w
(b) =fs
(c) *mvamry.
(d) frr

10.

1.

12,

14.

15.

3

The Indian state of Assam is flanked on
its borders by these two different
countries, one of them being
Bangladesh, which is the other one ?
(a) Burma (b) Bhutan
(c) Chiha (d) Nepal
Along with Kaziranga National Park in
Assam this protected wildlife area in
the state of Assam too was declared as
a natural World Heritage site in 1985
Find its name from the options listed
below.
(a) Khangchendzonga National Park
(b) Keoladeo National park
(¢) Rock Shelters of Bhimbetka

Manas Wildlife Sanctuary

How ‘many coastal states are there in

India ?

(a) 4 (b) 5

(c) 7 (d) 9

Which of the following is NOT true

observation of Quit India Movement 2-

(a) It was led by Mahatma Gandhi

() It was non violent movement

(c) It was spontancous

(d) Many Indian businessmen profiting
from heavy wartime spending did
not support Quit India

A Shakespearean sonnel typically

consists of how many lines ?

(@) 12 (b) 10

(c) 14 (d) 16

What was the codename given to the

Pokhran nuclear tests conducted in
1974 ?

(a) Smiling Buddha
(b) Shakt

(c) Parmanu

(d) Shiva

16.

17.

18.

19.

@ 2017 ons (B3T foroa WA GEA
A A oA i@ Ty oy
AT (FTAOIX DN ATH THH $4F 7
(a) 8w amr (b) firaw w13

(c) Renfie Bfs  (d) 3% 9

"sfsma afier Smfir fAghe w0
tfdor 3T A i anfior ?

(a) by xR

(b) fr.a wnay

(c) cves oot

(d) ¥ FRIX JvraET

16.

17.

18.

19.

A

She is a famous International
sporiswoman of Assam and an Arjuna
Awardee in 1987 for excelling in sports
Her name is Monalisa Baruah Mehta. In
which discipline of sports has she
excelled.

(a) Cricket
() Badminton
Bom in an Assamese Brahmin family in
Guwahati, Mr. Amab Goswami, a
renowned journalist Editor in chief and
TV news anchor of Indian news
channel ‘'TIMES NOW' resigned from
this channel and started his own news
channel from May 2017. Find the
correct name of this News channel
among those listed below ?

(a) NewsX (b) Mirror Now =
(¢) Republic TV (d) News9

This bridge “Dhola- Sadiya” is
considered to be the longest bridge in
India and was recently inaugurated by
Prime  Minister Narendra Modi in
Assam and is thought to be a tactical
asset in the ongoing dispute behween
India and neighbouring China. It
connects Assam  with one of its
neighbouring state, which is that state ?
(a) Tripura

(b) Meghalaya

(c) Arunachal Pradesh

{d) Manipur

He was an eminent writer and poet
from Assam of yesteryears and was
adormed with the title of “Pratimar
Khonikor” in Assamese literature for
his remarkable contribution to the
beginning of Modem Assamese
Literature. What was his name ?

(a) Laxminath Bezbarua

(®) P.A. Sangma

() Hemchandra Goswami

{d) Chandra Kumar Agarwala

(b) Hockey
(d) Table tennis
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21,

24,

arTrew s =g
rmEFr s v awdo aF
SETTE EwT wffon ¥ s ST
SAA VAT Wwry Nfeen gfewmr s
FeaTAA RRTY wfE e e
i wsfis w2y tfim 2

(@) 1979 (b) 1985

(c) 1974 (d) 1980

Irafies TS Ardwrer @ ey @
Ty fres ¥ R ab mfi w
Iy T @ A Tl FEE
forfls e At sfvewer T
WY I Fres oisTer yow Wl
TACTYS (FPGT Fr Iy wfame ?
(a) S (b) wfsw

© = (d) wfew

125 By %y frw Wt warw aby STe A wuE
&% Rty s Fa UM AY ST
FRT iyt mgh At s

frarady v e s fay ?
(a) 208 (b) 212
(c) 254 (d) 218

at1 smeafs® s FRIGHTENS #
106 ftsTer Pray xw; SIMILARLY # 118
fisr Py T @l SN
DEMONITISATION & wmts firar
¥T?

(a) 159 (b) 169

(c) 167 (d) 166

2374321573271098754723
sws T Tl @R WA
s ¥4 fw GhPre mam a6 wiAT
ot w7 namerE s Refy
Bfiaraw?

@1 (b) 2

(©) 3 (d) 4
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20. A six-year agitation demanding identi-

21.

24.

fication and deportation of illegal
immigrants was launched by the All
Assam Students’ Union (AASU). It
culminated with the signing of the
Assam Accord. The accord brought an
end to the Assam Movement. In which
-year was the accord signed ?
(a) 1979 (b) 1985
(c) 1974 (d) 1980

The river flows from west lo east and
on the way then tumns left. After going
some distance it encounters a hill and
goes around the hill counter-clockwise
in a quarter circle, and then tumns right,
In which-direction is the river finally
following ?

(a) North (b) South

(c) East (d) West

125 small but identical cubes have been
put Iogcfhcr to form a large cube. How
many such small cubes will be required
to cover this large cube completely ?

(a) -208 (b) 212

(c) 254 (d) 218

In a code language FRIGHTENS is
written as 106 ; SIMILARLY is written
as 18 ; How would
DEMONITISATION be written in the
same language ?

(@) 159 (b) 169

(c) 167 (d) 166

2374321573271098754723
Find the number of 7 in the given series
that are followed by an even number
but are not preceded by a prime
number ?

@ 1 (M) 2

(©) 3 (d) 4

27.

28,

RfrtT Frox sfsd 61 xex arwva
ReTs Famwas abr xex W, ob
BRew Iwva fosas wma gt Mfew
TIT I BT EFOBT TwEe fuas
FHI 25T EFCILT AT AW ATS T
TS (FIENME AT Fa7 AW oy
AF W (FTWI AF Tuvw PeaT arem,
IIT IFE T IO AFE ATS A
BT 7S FRETET @y o ?
(a) ofS®T Frow@ 281 Mfswa ares, 287
TIT [AFE W PT 5FELT I[(TE
TS IR
(b) sfSteT Frow B Bfew ares wq
281 3T T(FE AT TR
(c) ofswr From 1571 xsx @, 287
BFTTET A+ Wy 307 B s
TS FE
(d) =fSter Prom wrs w1 Bfiew amew,
FLT T[FE WY GFALGA ITFEA AT
tw 1,2 W 3 gAY FES v
M

STASs haw R s 781 6T
JACSTAAT (ST (FTR Infoey 2

(a) «mw T THA IH

(b) GireTaT AT

(c) wrws st f

(d) =T I

SAST TAA FTHTATE SREAW SIS
ANRDT @-TY TEAR ?

(a) =6 T

(b) = St

(c) =& fomr

(d) =€ TTSLAGH

STAS T TN FAT AN ATH F-
SRS (FTN:

(a) o JrpY TR AT

(b) Fer firGwr

(c) wmT By

(d) f&. aremreTeT#

25.

A

Each of the three kids gets at least one

box oul of 6 color boxes, at least
one tiffin box out of 6 tiffin boxes and
at least one chocolate box out of 6
chocolate  boxes S0 that the total
number of the items that each of them
No one gets the same
»oxes, color boxes and

Then which of the

color

gets is the same.

number of tiffin b

chocolate boxes.

following can be TRUE ?

(a) Each Kid gels 2 tiffin boxes, 2 color
boxes and 2 chocolate boxes.

(b) Each Kid gels 2 tiffin boxes and 2
color boxes

(¢) Each Kid gets 1 color box, 2
chocolate boxes and 3 tiffin boxes.

(d) The number.of Liffin boxes, color
boxes-and  chocolate boxes -that
cach Kid gets is 1, 2 and 3 not
necessarily in that order.

Who was the leader of the Red Shirt
movement against the British regime in
India ?

(a) Khan Abdul Ghaffar Khan

() Maulana Azad

(¢) Muhammad Ali Jinnah

(d) Muzzafar Ahmad

. "Which of the following Viceroys of India

has laid the first rail-road in India ?
(a) Lord Curzon

(b) Lord Dalhousie

(c) Lord Ripon

(d) Lord Mountbatten

The non-Indian who has been
conferred Bharat Ratna :

(a) Khan Abdul Ghaffar Khan

(b) Bill Clinton

(c) Mother Teresa

(d) C.Rajagopalachari
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Tferd v g A 7B feny
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(a) frrem @i

(b) 7 g

(c) = nbrr Yafiwrfs

(d) Rl st

sTadty mfmr sfie 3fy w1
T ?

(a) wmevwr st

(b) frarw smwwE

(c) AT ey

(d) &°. s S

2 SRS ¥F_fiatr ey Wy
It T, Wit WY o
Fherw e AT W W o
oo ¥ 7

(@) Frorw

(b) it

(c) =fsR/ ekt

(d)

3w wmqr T3w fier S e 3wy
o, @3 10 fefir ot @dx orifier
yfaer safims S oy @ P
@37 oot g g 10 fefir et
FdToT I (&8 pra 7 ffir s g
ot fer g T @S @™ fer
wfsHey 3w ?

(@) ™ (b) whew

(c) wher@ (d) whsvfex

4 sritw wI0OY BT WwEE BT AT
fxa Wity mfx ?

(a) 10 (b) 12
(©) 16 (d) 5
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29. Who won the .2016 Ballon dOr,

awarded to the best male footballer of
the year ?

(a) Lionel Messi

(b) Luis Suarez

(c) Zaltan Imrahimovic

(d) Cristiano Ronaldo

30. Who is known as Architect of the

Indian Constitution ?

(a) Mahatma Gandhi
(b) B.R.Ambedkar

(c) Jawaharlal Nehru
(d) Dr. Rajendra Prasad

31.. Looking .at. Zahir in-a photograph

Zubina said, “Zahir's mother’s only
daughter—is my  mother”. How is
Zubina related to Zahir ?

(a) Daughter

(b) Sister

() Niece

(d) Wife

32. A man started driving towards north,

he drives 10 km and then tums to his
right, drives 5 km and tums to his right
again and drives 10 km and tumns to his
left, drives 7 km and then tums to his
right. At this point in which direction is
he facing ?

(a) East (b) South

(c) Southeast (d) Southwest

33, What is the maximum number of

identical pieces a cube can be cut into

by4cuts?
(a) 10 (b) 12
(©) 16 d 5

3. 2t Fremt weirr oy TR

ar.

DFAAT wfsy Rory e o 78T
TR o itsd wEdy s 3y Ml
O TaE Freitre @dr omeTer
T I F@1 2SO oo MELT T
#m1, 2, yordhar, T I e
fszas a0y T OTSPT, MEDT T8 T
TSR, F A, R

Lic mdmhhr&vwnm:g

8T &7 I o w1 eI
"'M?‘Tﬂ'mwr{'tm 87 (0
TAX FA W DFAOAS T ;G
TRAT 787 mwom s w T
W I Pl T8 @ o
T AT W @d el gy
8T 787 6T Fafirater sifier s w7y
TR 787 o @d Qe e
fiwrdrs avme w1 @ Ao omsTeT
AT AT

(a) pam™ (b) o

(c) rfeama  (d) moamw

- Wfig+hag ha S amandy wm, g

~hag ha "fs amamdr P g x ha g
h¥ &1y by P sfia +bxc+d
xb+fxg, @wax aum sy f,
¢y 79F @ 2 T AW oGy
N AFTITSF T 3w ?

(a) 2w (b) 3

(c) 4+ (d) amax abrs ww

Qo 5t @dr Tgr ¥, RN
Ww (WA (FIVTX TS STFT WAL
R TS o e ?

st . (b) st
(c) i[ﬁ (d) &1 cAmar®

oft wfsrfsw @ W Wy Svaeew
#fsw 1T I I 7FO ey arw fere
afafds #4 W @@ IJ9@ X

frce e x'7 ?
(a) Ssm (b) wferm

() shsvPen.  (d) mfew
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34. An execulive wears dresses of different

colors on five days of the w.u‘k Irpm
Monday to Friday. He uses five shirls
and five lrousers for his weekday
dressing. Each shirl 15 u-fflc\ncllly one
colour f among the five colors -
Blue, Wm, Yellow, Réd and Green.
The trousers are of the five colours-
Orange, Maroon, Blagk, Silyer and
Blue. Ile wears a shirt and trousers of
the same colour on one of the five days.
Green shirt and Black trousers are used
together on Tuesdays. White and
Orange combination is used on Fridays.
Red and Silver is not onc of his dress
combinations and he prefers to have a
Red shirt_on Thursdays. The silver
trousers/ arc used by him on the day
immediately after Tuesday. e must be
using the Blue dress on a

(a) Wednesday (b) Monday
(c) Thursday  (d) Sunday

. - 1f g + hmeans g is daughter of h, g =h

means g is husband of h. g x h means g
is brotherof h. 1fa + bxc+dxb + f x
g then whal is the present generation
of a. Assume that the oldest generation
in this group is the first generation ?

(a) 2nd (b) 3rd

(c) 4th (d) None of these

. Looking at Sweety, Raj says to his

friend, “Sweety is the granddaughter of
the elder brother of my father”. How is
Sweety related to Raj ?

(@) Niece (b) Sister

(c) Aunt (d) Sister-in-law

. If  southeast becomes east and

northwest becomes west and all the
other directions are changed in the
same direction. Then what will be the
direction for north ?

(a) Northeast (b) Southeast

(c) Southwest (d) Eastwest



38. ab1 gfrx wbur e st frrfre

oS Rfrmard ofs =ty amo
WY ATE WEF F@I AW T CmEr
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(©) T (d)- S amardty awy

EjO 3050 | TYE
DHL | 2460 | PTX
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(a) 1845 (b) 1260
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. A,B,C,D,E,F,G,Hry | tew it
b 7 st wETd forem @deTE

fafe Garam I avaty 7w @
H aw Sy swaty w3 Cov a¥am
t Sl aw @ qErArd wfevea
4% w7 FAW WAy wit) AY Fy e
waTe Ay ¥ E¥ e amavw By |

38. Inspector arrested three persons- Kalia,

Raza, Shera - on suspicion, in a theft
case. It was found one among these
three was the thief. During the
interrogation their replies were as
follows:

Kalia: I am not the thief. Raza is the
thief.

Raza: I am not the thief. Either Kalia or
Shera is the thief.

Shera: I am not the thief. Raza is not
the thicf.

If exactly one person among them
always speaks the truth, another
always speaks lies and the third
alternates between. the truth-and lies,
then who'is the thief ?

(a) Kalia (b) Shera

(¢) Raza (d) None of these

. Insert the missing character ?

EJO 3050 | TYE
DHL | 2460 | PTX

CF1 ? LOR
(a) 1845 ) 1260
(c) 1860 (d) 1850

. A, B, CD,EFQG,Iland I are nine

employees in a company, who go to
meet two managers Ram and Decpak
to talk to them about their Paris project.
Each manager has time for only three
employees. D has a priority and must
be given preference by Ram or Deepak.
F and B do not wish to go to the same
manager. G goes to Ram only and H
goes to Deepak only. C comes back
saying that neither of the two managers
has time to see him. A does not go with
F and | does not go with E. B and I do
not go together. If E, F and G go

10

4.

ATFWT AT Wf E, F @ G oages

::ﬂ!ﬂrh'tﬂmwwdmn
W Frard wfrsme LL

o, 2w wfy oy rw“(: C

FUTATETX 72T 377X e ?

(a) 8v*-D,,HarD,B, H

(b) &*-D,E,H=ID,B H

(c) IW- A LHaIN,ILH

(d) ¥@-D,,NarA, I H

TN F3®:- [ (x3- x2-1)/(x-1) dx

(@) @x)/3+x+c¢

(b) (3x3)/3+x+¢

(© (3)/3+x+c

(d) (2x3)/3+x+¢

. (3 +2ising)/(1- 2isin0) W fray

IWT 0 ¥ AW aprE Ay Bmvaw

X9 fros ame
(a) x/2 (b) 3w/2
() n+r (d) nx

. 3+5i ¥ awrE vl e ?

(@) (3/34)-(5/34)i
(b) (3/34)+(5/34)i
(€) -(3/34)«(5/34)i
(d) -(3/34)+(5/34)i

“0.8,-2,5,-12.5, __ " ambra maadt
BT TETH FAw

(a) 24 (b) 275

(c) 31.25 (d) svax agvs ww
pPT BT ¥MT I firwrs wlftwar
"(2p-1)x2 -3x + 5=0 "¥ wmw wsfipw
wE?

(a) 22/35 (b) 29/40

(c) 33/47 (d) 39 /51

u% b firfreT wx-
10(2n-1) + 1 11cx freTam|

(a) wer

(b) iy

(c) firfx sfiw amafy

(d) srrfre awy

41,

A
together and are seen by one of the
managers, then which manager sces
whom, assuming that C has opted out
of the talks ?

(a) Decpak-D, 1, HorD,B, 11
(b) Deepak-D,E, Hor D,B H
() Ram-A, [ HorN,ILH
(d) Ram-D,I,NorA,LH

SOLVE - | (x3-x2-1)/(x-1) dx

(@) x3)/3+x+c

(b) 3x3)/3+x+c

(€) (x3)/3+x+c

(d) (2x3)/3+x+c¢

(3 + 2i sin 6) / (1- 2isin0) is pure real.
Find the value of 0 such that it also real
(@) #/2 (b) 3x/2

(c) n+x (d) nx

What is the multiplicative inverse of
“345i*?

8) (3/34)-(5/34)i

(b) (3/34)+(5/3)i

(e} -(3/34)-(5/34)i

(d) -(3/34)+(5/34)i

Find the next term of the series:"0.8, -2,
5,-128,___.*

(a) 24 (b) -27.5

(o) 31.25 (d) none of these

For whal values of P’ does the
quadratic equation “(2p-1)x2-3x + 5=0"
have equal root ?

(@) 22/35 (b) 29/40

(o) 33/47 (d) 39 /51
CHOOSE THE CORRECT OPTION :-
10(2n-1) + 1is divisible by 11,

() TRUE

(b) FALSE

() Cannot be determined

'd) Insufficient Details
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(2) 27/100 ) (1/4)

(c) (25/102) (d) (27/102)
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Without replacement 2 cards are drawn
at random from pack of 52 cards. With
what probability can you say that both
cards are red ?

(a) 27/100 (b) (174)

(c) (25/102) (d) (27/102)

Each edge of an expanding cube is
increasing at a rate of 0.5 cms/sec.
What is the rate of change in volume of
the cube when its edge is 6 cms ?

(a) 54 cubicem

(b) 64 cubic cm

(c) 72 cubicem

(d) 96 cubic cm

A bucket contains 48 liters of 75% pure
milk. How many Iir of water can be
mixed. in the bucket so thal the final
impurity of the milk lies between 60%
10 66.66% ?

a) 61012 (b) 161030

(c) 24t030 (d) 12to24

How many non negative integral
solutions exist for the given equation:
t+u+v=9?

(a) 46 (b) 55

(c) 67 (d) 72

From the following proforma invoice
come under which part of export
document.

(a) Commercial Invoice

(b) Packing list

(c) Regulatory Documents

(d) Auxiliary Document

. ‘When the seller deliver the goods to the

buyer, cleared for import and not
unloaded from any arriving means of
transport at the named place of
destination, is known as :

(a) Delivered Duty Paid (DDP)

(b) Delivered Duty Unpaid (DDU)

(c) Delivered Ex-Quay (DEQ)

(d) Delivered Ex-Ship (DES)
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» Which one of the followin,

A

. From the following which is the first

basic and the only complete documen|
amongst all commercial documents for
the shipment ?

(a) Bill of Lading

M\ Bill of Exchange

(©) Commercial Invoice

(d) Airway Bill

. From the given options Which is the

transport document for air carriage 1
(3 Airway Bill ’
(b) Post Parcel Receipt

(c) SightBill

(d) None of the above

. What is the minimum eligibility

period for receipt of pension in
accordance with the pension rule of
Central Government 7

(a) 10years— @) 15 years

() 20 years (d) 25 years

- "A blue print of a projected plan of

actipn of.n business for a definite
period of time” the statemen is defined
as

(a) Budget

(b) Cost sheet

(9} Balance Sheet
(d) None of the above

. is not th

essentials of a budget, ¢ ‘

(@) It is prepared in advance and is
based on a future plan of actions.

(b) It relates to a future period and is
based on objectives to be attained,

© It is a slatement  expresged in
monetary and/or physical units
prepared for the implementation of
policy  formulated by the
management

(d) Tt is not Prepared in advance ang
not for a future plan of actions
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Budget can be classified into different
categories from different point of
views. Which one of the fol owing is
not considered as most common basis
of classification ?

(2) According to Time

(b) According to Function

(€) According to Flexibility

(d) According to Management
Consideration

From the given options production
budget is part of which classification ?
(a) Functional Budget

(b) Master Budget

(c) Expenditure Budget

(d) Flexibility Budget

What is the purpose of enforcing GPF 2
(a) Retirement Benefits of Employees:
(b) Tax Benefit of Employces

(c) Tax Benefit of Employer

(d) Government Revenue Generation

What is the minimum pension
government of India pay per month ?
(a) 8000 Rupees

(b) 9000 Rupees

(c) 10000 Rupees

(d) 11000 Rupees

. The act related to Pension rule and

regulation is named as

(a) The pension Act, 1871
(b) The pension Act, 1948
(c) The pension Act, 1971
(d) Pensioners Act, 1871

. Any government servant can apply for

voluntary retirement,

months in advance notice '
(a) 6months  (b) 3 months
(c) 5months (d) 2months
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. Who regulate the National Pension

System ?

(a) Pension Fund Regulatory And
Development Authority

) Government Of India

(c) Ministry Of HRD

(d) None of the above

. How many years of qualifying service a

govemment employee should complete
to apply for voluntary retirement

(a) 25 years () 20ycars

(c) 21ycars (d) 30ycars

. What should be deducted from gross

salary to compute taxable salary ?
(a) Entertainment Allowances
(b) Taxable Allowances

(c) Taxable Gratuity

(d) Taxable prerequisites

. Which of the following allowance is not

tax free to certain limit ?

(a) House Rent Allowance

(b) Conveyance Allowance
(c) Medical Allowance

{d) Entertainment Allowances

. Under payment of wages act 1936,

Section 7, what is the maximum percent
of deduction from total amount

(a) 05 (b) 06

() 075 (d) 08

. Which bill is used for export of goods

which neither attract any export duty
and cess nor are entitled to the duty
drawback ?

(a) free shipping bills

(b) dutiable shipping bills

(c) drawback shipping bills

(d) shipping bill for shipment ex bond
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For Fuslonu which of the document
required at Pre-shipment stage
(a) Invoice
(b) ARE forms

(c) Shipping bill / Bill of export

(d) CR/ PP form

Who is eligible for GPF account in
India ?

(a) Private Sector Employee

(b) CovcmmmlEmploycc

(©) Open for Al

(d) Companies

The percent of the salary government
employee have to contribute in GPF

(@) 3%-15%

®) 1%-12%

(c) "0-12%

(d) 1%-15%

. The General provident fund rule (Central

services)1960 came into force on
(a) '1st, April

(b) 1st, May

(c) 1st, March

(d) 1st, August

Which statement reflect the salary sheet
from the following ?

(@) Payroll Statement

(b) Remuneration Statement
(c) Wages Sheet

(d) None of the above

Gross salary comprises of which
Allowances

(a) Basic Salary, DA, HRA.
(b) Basic Salary, DA, HRA, PF
(c) Basic Salary, DA and PF
(d) Basic Salary, HRA and PF
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» Choose the correct preposition to fill in

the blank :

Every  sensible citizen  abides
the law of country.

(a) to (b by

(c) for (d) with

» Choose the correct preposition to fill in

the blank :

I prefer seeing the film
reading,

(a) than " () to

(<) over (d) as

_—

. Choose the correct preposition o fill in

the blank : '
Fate smiled him in all his
ventures.

(@) by (b) with

(c) on (d) above

Choose the correct preposition to fill in
the blank :

The evcn‘t came as he had
predicted it.

(a) by (b) about

(c) off (d) wp

Choose the correct preposition to fill in
the blank : '

So many servants attended ___
him during his illness.

(a) at (b) upon

(c) on with

A

81. Fill in the blanks with the suitable
article :- This lady is wearing ... awiul
hat.

(@) a

() an
(c) the
(d) no article needed
82. Fill in the blanks with the suitable
article - Have you seen .. book, 1
talked about yesterday ?
(a) the
() a
(¢) an
(d) no article needed
83, Flll'in the blanks with the suitable
article - I'm studying .....English this
year.
(a) a
() an
(¢) the
(d) no article needed
84, Fill in the blanks with the suitable
) article :- The beans are 80 cents ..... kilo.
(a) an
(b) the
() a
(d) no article needed

85. Fill in the blanks with the suitable
article - Are you sure this is ... boy
who stole the car.

(a) the

) a

() an

(d) no article needed



A

Complete the given statement with the
suilable option :- The .............. is the
permanent records for business.
(@) Activity tracker

Ledger
(c) Target Report
(d) None of these

Complete the given statement with the
suitable option :- The layout of a
business letter is its ............

(a) Body

(b) Content

(¢} ' Pattern

(d) Allof these

Complete the given statement with the
suitable option :- The content
of the presentation should be broken
into short and clear units.

(a) Main (b) Middle

(c) Upper

(d) Lower

Complete the given statement with the
suitable option :- The main message of

the letter is consisted in ...........
(a) Heading ®) Body
(c) Greeting (d) Closing

Complete the given statement with the
suitable option :- Official communi-
cation is an act of imparting
(a) Training (b) Information
() Knowledge (d) Message

91.
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Passage

Those of us who already possess knives
and use them as a matter of course at
our metals can hardly understand the
longing of an infant to be given the
freedom of so perilous an instrument.
Man has been defined as a tool-using
animal, and there is no other tool that
appeals to the imagination so strongly
as a knife. It is through long months
and years a forbidden thing, and all the
more fascinating on that count. There is
no glory in using-a spoon. There is no
honour in“holding a fork in the right
hand and a taking up on it little squares
of meat that have been cut with a knife
by some more privileged hand. Fork
and a spoon are little more than an
extension of the fingers, an a spoon, at

-least, is so safe that it can be left in the

hands of an infant in the cradle. But a
knife is a danger against which
constant waming is necessary—
something out of reach and waiting a
prize at the end or a long avenue of
years.The privileged hand in this
passage refers to '

(a) the spoon

(b) expert hand

(c) the adults
(d) the children

92. Passage

One dull, dark day in autumn, I was
travelling on horseback through a
dreary stretch of countryside. At
nightfall, T came in sight of the House
of Usher. This was the house of
Roderick Usher, who had been my
childhood pal. It had been umpteen
years since he and I had seen ecach
other. [ lived in a distant part of the
country  during my childhood.
However, he had recently
corresponded with me telling me at
length of a serious illness and of a
mental disturbance that was troubling,
Beleagucred by his problems, Roderick
was leading the existence of a hermit.
Roderick
(a) was living in the company of his
friends
(b) was engaged in many social
activities
() was involved in his thriving
business ' v
(d) had become a recluse

Read the following passage carefully
and answer the question that follows.

If I had been asked in my early youth
whether | preferred to have dealings
only with men or only with books, my
answer would certainly have been in
favour of books. In later years this has
become less and less. Not that I have
had so much better experiences with
men than with books, on the contrary
delightful books even now come my
way more often than purely delightful

men. But the many bad experiences
with men have nourished the meadow
of my life as the noblest book could not
do. Which one of the following
statements  best reflects the main
arguments of the passage 7

(a) Books are always better than men

(b) There are more purely delightful
men than purely delightful books

(¢) It is the experience with other
human beings thal nourishes one’s
life and not necessarily books

(d) Neither men nor books give any
worthwhile experience

. /Read the following passage carcfully

and answer the question that follows.

If I had been asked in my carly youth
whether I preferred to have dealings
only with men or only with books, my
answer would certainly have been in
favour of books. In later years this has
become less and less. Not that | have
had so much better experiences with
men than with books, on the contrary
delightful books even now come my
way more often than purely delightful
men. But the many bad expericnces
with men have nourished the meadow
of my life as the noblest book could not
do. In his early youth, the author :

(a) liked to have more dealings with
books than with men

(b) preferred to have dealings only
with books

(c) liked to have more dealings with
men than with books

(d) liked to have no dealings



Read the given passage carefully and
then answer the question that follows,
[The outcome of the Brexit referendum
would be reversed if it was held
tomorrow, a poll suggests.  The
Survation survey showed a clear
majority of Britons (54 per cent) would
vote to Remain in the European Union
if another referendum was held, while
46 per cent would back Brexit, As
Commons Leader Andrea Leadsom
signalled a more consultative approach,
the Survation survey also showed just
over half want a cross-party coalition of
parties to negotiate the UK's exit from
the.EU, compared to-less than a-third
who think it should fall 10 the Tory
minority-Govemnment-alone.] What is
the attitude of citizens towards Brexit
today ?
(a) majority would support
(b) majority would reject
(c) commoners are indifferent
(d) hard to judge

In the following question a sentence

has been given in Active/Passive

Voice. Out of the four alternatives

suggested, select the one which best

expresses the same sentence In

Passive/Active Voice.

Rosemary was moved to tears at the

sight of the miserable beggar.

(a) The sight of the miserable beggar
moved Rosemary lo tears.

(b) The sight of the miserable beggar
has moved Rosemary to tears.

(c) The sight of the miserable beggar
moves Rosemary to tears.

(d) The sight of the miserable beggar
had moved Rosemary to tears.

97. In the

r

following question a sentence
has been given in Active/Passive
Voice. Out of the four alternatives
suggested, select the one which best
expresses  the same  senlence  in
Passive/Active Voice.

Who asked you to draft this letter ?

(a) By who you are asked to draft this
letter.

(b) By who have you been asked to
draft this letter.

(c) By whom were you asked to draft
this letter?

(d) By whom you were asked to draft
this letter.

. In the following question a sentence

has been given in  Active/Passive
Voice. Out of the four altermatives
suggested, select the one which best

expresses the same. senlence in
. exp

Passive/Active Voice.

The lightning caused a serious forest
fire and damaged many nearby houses.
(a) A serious forest fire has been
- caused by lightning and many
nearby - houses have been
damaged.

(b) A serious forest fire was caused by
lightning and many houses are
damaged.

(¢) a serious forest fire and been
"caused by lightning and many
nearby houses had been damaged.

(d) A serious forest fire was caused by
lighting and many nearby houses
were damaged.
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99. In the following question a sentence

has been given in Active/Passive
Voice. Qut of the four alternatives
suggested, select the one which best
expresses  the same sentence in
Passive/Active Voice,

Look ! They have painted the door,

(a) Look ! The door's being painted.
/(b) Look ! The door had been painted.
(¢) Look ! The door has been painted.
(d) Look ! The door was painted.

A

100. In the following question a sentence

has been given in Active/Passive

Voice. Oul of the four alternatives

suggested, sclect the one which best

expresses  Lhe  same sentence  in

Passive/Active Voice.

The scheme permits investors to buy

the shares from foreign companics.

(a) Under the scheme the investors
may be permitted to buy shares
from forcign companies.

(b) Under the scheme the investors
have been permitted to buy shares
frromt foreign companics,

(¢) Under the scheme the investors
are permitted o buy shares from
foreign companics.

(d) Under the scheme the inveslors
were permitted to buy shares from
foreign companies.



